Comparing

I can find the difference between 2 numbers.

1. Can you find the difference between...?
a. 30 and 43 c. 50 and 66

b. 20 and 11 d. 47 and 63

2. Three teams have the following scores:

Blue Team: Green Team:
25 52

How many more points did Green Team score than...?

Red Team:
37

a. Blue Team:
b. Red Team:

How many fewer points did Blue Team score than Red Team?

3. Can you solve these puzzles?
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How much less does the rhino
weigh than the elephant?
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A baby elephant weighs 90kg. My dad is 34.
A baby rhino weighs 55kg My mum is 26.
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How much older is my dad
than my mum?
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4, Can you make up a puzzle for someone else to solve?
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Answers

1. Can you find the difference between...?
a. 30 and 43 13 c. 50 and 66 1é
b. 20 and 11 9 d. 47 and 63 16

2. Three teams have the following scores:

Blue Team: Green Team:
25 52

Red Team:
37

How many more points did Green Team score than...?

a. Blue Team: 27

b. Red Team: £

How many fewer points did Blue Team score than Red Team? __!2

3. Can you solve these puzzles?
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How much less does the rhino
weigh than the elephant?

3Skg

s 3
A baby elephant weighs 90kg. My dad is 34.
A baby rhino weighs 55kg My mum is 26.
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How much older is my dad

than my mum?

g years

Maths | Year 2 | Addition and Subtraction | Difference | Lesson 1 of 2: Comparing

visit twinkl.com



* %

Comparing

I can find the difference between 2 numbers.

1. Can you find the difference between...?
a. 42 and 65 c. 55 and 79
b. 29 and 51 d. 47 and 76

2. Four teams have the following scores:

Blue Team: Green Team: Yellow Team: Red Team:
45 87 72

How many more points did Green Team score than...?

a. Blue Team:
b. Red Team:

There was a difference of 14 points between Red Team's score and Yellow

Team's score. What might Yellow Team's score be?

3. Can you solve these puzzles?

e N
There are 47 pupils in my My sunflower is 97cm

school. tall.

There are 72 pupils in My brother's sunflower

my friend's school. is 68cm tall.

How many fewer pupils go to How much shorter is his

my friend's school? sunflower than mine?

. J \ J

4, Can you make up a puzzle for someone else to solve?
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LS Answers

1. Can you find the difference between...?
a. 42 and 65 23 c. 55 and 79 249
b. 29 and 51 22 d. 47 and 76 29

2. Four teams have the following scores:

Blue Team: Green Team: Yellow Team: Red Team:
45 87 72

How many more points did Green Team score than...?

a. Blue Team: 42
b. Red Team: IS

There was a difference of 14 points between Red Team's score and Yellow
Team'’s score. What might Yellow Team's score be? __ 27

3. Can you solve these puzzles?

e N\
There are 47 pupils in my My sunflower is 97cm

school. tall.
My brother's sunflower
is 68cm tall.

There are 72 pupils in

my friend's school.

How many fewer pupils go to How much shorter is his
my friend's school? sunflower than mine?
28 29cm
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Comparing

I can find the difference between 2 numbers.

1. Can you find the difference between...?
a. 82 and 57 c. 56 and 83

b. 99 and 51 d. 48 and 96

2. Four teams have the following scores:

[Blue Team:J [Green Team] E(ellow Teamj [ Red Team: J
72

Yellow Team scores 14 more than Green Team.

The difference between the highest score and the lowest score is 54.
 Blue Team scores 17 more than the lowest scoring team.
+ Yellow team have the highest score.

« What does each team score? Write the scores on the scoreboards.

3. Can you solve these puzzles?

( \ (

There are 67 children in my
school. 23 are girls.
How many boys are
there?

.

y,
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My mum's shopping
costs £89. She said it
was £34 more than
last week. How much
did it cost last week?

4, Can you make up a puzzle for someone else to solve?

X
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Answers

1. Can you find the difference between...?
a. 82 and 57 28 c. 56 and 83 27
b. 99 and 51 48 d. 48 and 96 __ 4%

2. Four teams have the following scores:

Blue Team: Green Team: Yellow Team: Red Team:
499 72 26 32

Yellow Team scores 14 more than Green Team.

The difference between the highest score and the lowest score is 54.
 Blue Team scores 17 more than the lowest scoring team.
+ Yellow team have the highest score.

« What does each team score? Write the scores on the scoreboards.

3. Can you solve these puzzles?

( \ (

There are 67 children in my
school. 23 are girls.
How many boys are
there?

494

My mum's shopping
costs £89. She said it
was £34 more than
last week. How much
did it cost last week?

£SS
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